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Solutions

1)  B  
2)  none      3)   D     4)  0      5)  A
6)   (–1, 3)         7)  y = 
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3

x – 3        8)  no solution 

9)   No values of k are possible.         10) The lines intersect at an infinite number of points.

11)  20           12)  x = –6, y = 10             13)  Answers will vary. One possible answer is 5x – y = 0.

14) 10 500 barrels of gasoline and 14 500 barrels of diesel oil

15)  b) Let x represent the year.  y = –x + 2084; y = –x + 2071

c) No, the production of lamb will never equal the production of veal. The lines both have a slope of –1 and, as a result, they are parallel.          

16)  33          17)  many         18)  $100  

19)  The trip consisted of 385 km at the fast speed and 135 km at the slow speed.            

20)  3

21)  Let x represent the time it took to go into the country.    Let y represent the time it took for the return trip.

x + y = 3 

60x = 48y

60(3 – y) = 48y

180 – 60y = 48y

180 = 108y

y = 
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180


y = 
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5

 = 1.7

Total distance = 2 times 48 ( 
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 = 160 km

The trip was 160 km in total.

22)  Change the scale of the graph to include the point of intersection. This may mean you need to change the window settings if you are using a graphing calculator.

23)  Use substitution to write one equation with the variable k.

3x – 6(kx – 3) = 12

3x – 6kx + 18 = 12

3x – 6kx = –6

For the system of linear equations to have no solution, the left side of this equation cannot equal the right side. To help find the value of k, set the left side equal to 0 (which is not –6).

3x – 6kx = 0

Divide both sides of the equation by x.

3 – 6k = 0

k = 
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A value of k is 
[image: image6.wmf]2
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.

24)  k can have any value not equal to 3. If k has a value of 3, then the two lines are the same and there are many solutions, not just the y-intercept.

25)  Change the scale on the x-axis and the y-axis to enlarge the area around the point of intersection. This may mean changing the window settings if you are using a graphing calculator.

26)  Let M represent the hourly rate of the mechanic.

Let H represent the hourly rate of the apprentice.

M = 3H
68 = 4M + 5H

68 = 4(3H) + 5H

68 = 12H + 5H
H = 4

M = 12

The apprentice earns $4/h and the mechanic earns $12/h.

27)  b) The area of a triangle can be found by using 0.5bh. In this case, b = 4 and h = 4.

Area = 0.5(4)(4) = 8 square units.

28)  Use substitution to write one equation with the variable k.

3x – 6(kx – 2) = 12

3x – 6kx + 12 = 12

3x – 6kx = 0

28 continued) For a system of equations to have an infinite number of solutions, the left side of the equation must equal the right side of the equation.

3x – 6kx = 0

Divide both sides of the equation by x.

3 – 6k = 0

k = 
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A value of k is 
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.

29)  First, change the equation x + y = 2 to slope y-intercept form.

y = –x + 2

a) Answers will vary. One possible solution is y = –x + 3. The slopes of your line and x + y =2 must be the same.

b) Answers will vary. One possible solution is 2y = –2x + 6. The equation you write must be equivalent to x + y = 2.

c) Answers will vary. One possible solution is y = x – 3. The equation you write cannot have the same slope as x + y = 2 or be equivalent to x + y = 2.

30)  a) x = 6 + 3y

2(6 + 3y) – 6y = 12

12 + 6y – 6y = 12

12 = 12

Since this statement is true, the system of linear equations has many solutions. 

b) The variables are eliminated and you get a statement that is always true. 
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